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2. (a) 3NMEEMEDFHIERL TR BAWE 1 s,
(MY
1 library(readxl)

[N}

library(dplyr)
data <- read_xlsx('C:/Users/JL/ [H/Desktop/ Kt [& ¥ %|2020/hw8
/VAR_M2/CMTS_Q.xlsx')
+ CMTS <- data %>%
select (q_dates_data, logrealGDP_va, CPI, logM2) %>%

o filter(q_dates_data >= 1999.75 & q_dates_data<=2018.75)

;7 diff _CMTS <- tibble(

s diff_logGDP = diff (CMTS$logrealGDP_va, lag = 1),

o diff_ CPI = diff (CMTS$CPI, lag = 1),

v diff_logM2 = diff (CMTS$logM2, lag = 1)

n)

L #& K 2 B E 5 7B

5 for(i in 2:4){

u TS <- ts(CMTS[i], start=1999.75, end=2018.75, frequency=4)

5 plot(TS)

6}

v #&E X ®E 50 E A

s for(i in 1:3){

19 TS <- ts(diff_CMTS[i], start=2000.00, end=2018.75,
frequency=4)

0 plot(TS)

a )

(b) 3ANTIRISEUG I EIR, Alog GDP,_y #1 Alog CPI,_y [iffiit REUPEHE VAR
AR i Je i K T g0 o
ARG F :

1 library(vars)

> diff CMTS <- tibble(

diff_logGDP diff (CMTS$logrealGDP_va, lag = 1),

. diff_logCPI diff (Log (CMTS$CPI), lag = 1),
diff_logM2 = diff (CMTS$logM2, lag = 1)
6 )

; for(i in c(1,2,4)){



s VAR <- VAR(diff_CMTS, p=i, type='const')
9 print (VAR)
10 }

1 coef <- tribble(

o ~"p", ~"diff_logGDP.11",~"diff_ logCPI.11",
5 # / /

s "1" , 0.04840883 , -0.42899817 ,

5 "2" , -0.016864647 , -0.650332715,

6 "4" , -0.069665684 , -0.693503282,

17 )
s knitr::kable(coef,digits = 4,
v caption = "diff_logM2 7 % f& it & % ™)

Frblizr R ffhi vt R 50N

p | AlogGDP;_; | Alog CPI;4
1 0.0484 -0.4290
2 -0.0169 -0.6503
4 -0.0697 -0.6935

(o) MR¥E AIC N, FF/Ep % P NGOG . AIC R KR RVNES, 45t
SC SR E di LA, HU 4 B ARFERREAS, e BN T B
(NCLUNNE

1 VARselect (diff_CMTS, type = "const")

(d) =FfhTHai RonlnE 2, #3, K4 Pors.
(NCTUNE
1 VAR1 <- VAR(diff_CMTS, p=1, type='const')
VAR2 <- VAR(diff_CMTS, p=2, type='const')
VAR3 <- VAR(diff_CMTS, p=4, type='const')
+ plot(irf (VAR1))
plot (irf (VAR2))
s plot(irf (VAR3))

() HATHRMEIE— MMM ST My, KAEA 5 8 31, Rl 2 4 N [a] A 32 H i,
i3] GDP Al CPI g duiGE I, SRS [EvE, KUPRE SR E B2 5 R
7.
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